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M. Com. (Fourth Semester)
EXAMINATION, 2020
(Optional-Specialization)
[Optional Group (B) : Management]
Paper First
FINANCIAL MANAGEMENT
Time : Three Hours
Maximum-Marks : 80
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Attempt.all the five questions. One question from each
Unit.is.compulsory. All questions carry equal marks.

THE—1
(UNIT—1)
facia e @1 & ? $9o dgd Ud el @l garsy |
7 -9 faft= gea €, Rmer foig faoE 4 aam
G A1y ?
What is Financial Planning ? Write its importance and

limitations. What are various factors that a financial plan
must consider ?
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3rerar
(Or)

fosm fo1. te M9 e @1 R =) @ R

% 1,20,000 JIP P ANTT W & FMH A TAT B ST

1P P AE WY JTH W I Gl s e |

% 729 A 799 B
(9] ®

1 50,000 30,000

2 40,000 30,000

3 30,000 50,000

4 20,000 40,000

5 20,000 40,000

ON O\ O\

FreforiRad &1 YA &Rd gU. QI fddbedl Bl ol
DHIFTT

@) U-d& erafer JAfT

@) U-SF & q5 DL AMEISD A |

Vijay Ltd. is considering to purchase a machine. Two
machines A‘and B are available at the cost of ¥ 1,20,000

each. Earning after tax but before depreciation are likely
to be ahead :

Year Machine A Machine B
®) )
1 50,000 30,000
2 40,000 30,000
3 30,000 50,000
4 20,000 40,000
5 20,000 40,000
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Evaluate two alternatives by using :
(a) Payback period method
(b) Post-payback profitability method

ThHI5—2

(UNIT—2)

ol @1 R 9 dida dAgiae [aRaRT @l e
iy | 39 foamamr @ ffaRea somel & @
U BRI ?
(i) @ > Yo S > AT |
(i) o< |t & ameed

Examine critically the conceptual framework relating to
cost of capital. How far is this approach relevant

(i) indesigning of corporate-capital structure ?
(i) inthe allocation of financial resources ?

SR

(Or)
el fof- U 3 100 dTel 4000; 9 R YaifdieR
afer foffoa Ty oiR ffeiRaa @rg e g -
JyfEg e 2 feerd, Sarel 1 e oiR oM =y
< 3,000
g A gU & qaifrer el & (i) 99 W, (i) 7
gfererd 98 W, (iii) 9 ufoer Wfvgw w g fear s
g, Uol @ dFTd (@) 9 gd) &) T BINY | HR Bl o
40 wforerd 2|
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Sonali Ltd. has issued 9%, 4000 preference shares of
¥ 100 each and has incurred the following expenses :

Underwriting commission 2%, brokerage 1% and other
expenses ¥ 3,000.

Calculate cost of capital (before tax) assuming the
preference shares is issued at (i) par, (ii) 7% discount,
(iii) 9% premium. The tax rate is 40%.

THE—3
(UNIT—3)
facia cftavst @1 & ? foxfg oftavs uRered a4
forey TRE TR € ? ISTERVT AfRd. R I |
What is Financial Leverage ? “In what way financial

leverage is related to operating: leverage ? Explain with
example.

3rerar
(Or)
frefoRad qaigame X o Y sufal 9 |wied &
X Y
TG Tl s (3hTS) 80,000 | 1,00,000
gRadeie arTd ufd 3318 ) 4 3
ReR @1 ) 2,40,000 | 2,50,000
FU ol R & () 1,20,000 50,000
faga g vl sa1g 10 8
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SH FHD! B AER W (i) aRaATAd e, (i) foxi
ofTaR, (iii) §gad effaxs 1 TOMET B |

The following projections are related to companies
XandY:

X Y
Output and Sales (units) 80,000 1,00,000
Variable cost per unit (%) 4 3
Fixed cost (%) 2,40,000 2,50,000
Interest burden on debt (%) 1,20,000 50,000
Selling price per unit 10 8

On the basis of above data compute (i) Operating
Leverage, (ii) Financial Leverage, (iii) Combined
Leverage.

SHIS—4

(UNIT—4)

AT AT BT @A BINTG | T GReR AT i &
IS Tl BT MMATTAHD URIEToT Efﬂﬁ‘l'm

Explain the meaning of Dividend Policy. Critically
examine the essentials of a sound dividend policy.

rerdr
(Or)

IR, 1. 3R w4, fo1. <1 Huff vo & YR & Aqqdrd |

ot € 3k <M # % 2,50,000 @ Uon ffERa 2

3R, for. =1 39 IS % 1,00,000 |HAT 3fF (% 10 aTcl) &
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®Y H TAUT T 1,50,000, 6% FOTGA (% 100 dTel) & wI H
U @ g E. o F oo e Sl % 10 dTel |
I B B H U B 2|

IR, o gRT JUARY T8 99T R AUR A &I FHen
P, AT @ T IR Fred F Q4 Ml DUl BT AN
350,000 B | R X 5% AT AT |

There are two companies R Ltd. and S Ltd. engaged in the
same line of business and both have invested capital of
¥ 2,50,000 each. R Ltd. has raised its capital. . 1,00,000
from equity shares of ¥ 10 each and ¥ 1,50,000 from 6%
debentures of a ¥ 100 each. S Ltd. has raised its whole
capital from equity shares of ¥ 10 each.

Comment upon the policy of trading on equity followed
by R Ltd. if earnings before-interest and tax is ¥ 50,000
each in both the companies. Tax rate may be assumed to
be 5%.

THE—5
(UNIT—5)

JAbs T B 37 P WK JRAT HIFIT | Adbs Te9T &
faftrF-oRoN & FfdR 9SS |

Explain clearly the meaning of ‘Cash Management’.
Explain in detail the various steps of cash management.

arerar
(Or)

TH FUN B Yot wa § fy=faRad i 2

10% QAR e (% 10 ufar 37 ¥ 1,00,000

FHAT 3 Yol (3 10 UhT o) % 1,00,000

https://universitynews.in/



https://unlv[eﬁltynews.ln/ DD-120

URETE o™ % 60,000 2 3R YA 50% &I PR T H
gl fxi ywaefiarar @ o @iRg | afs oRares
™ ded] T 90,000 B WY, o Hs fa<iag ywrasfierar @m
Bl ?

The capital structure of a company consists of the
following :

10% preference shares of ¥ 10 each % 1,00,000
Equity share capital (¥ 10 each) ¥ 1,00,000
The operating profit is ¥ 60,000. The company is in 50%
tax bracket. Calculate financial leverage. What would be

new financial leverage if operating profit“increases to
390,000 ?

DD-120 1,700
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